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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) gdftenelf Tdwem U Uy U W AR AfHERE: ford |

Candidate must write first of all his/her Roll No. on the question
paper compulsorily.

2) |t uva e fHEE g |
All the questions are compulsory.
3) UHH U9 Rl ST & TS IW-YiEaent # & o |

Write the answer to each question in the given answer-book
only.

4) 7 uwat ® rafes @us g, 39 Ol & W us T A @ )

For questions having more than one part the answers to those
parts are to be written together in continuity.
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5) uga v & F< @ i wurr # foRe wehr R g / e / ek gn w =R
IS oh U9 Rl T A

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

6) Qg Uy @& I TA® T IR &1 Wsg /g8 i
H 1-10 1 20 vrsg
o 11 - 18 2 e Us
q 19 - 27 4 Teh U8
3 28 - 30 6 a= g8
Section Q. Nos Marks per Word/Page limit
question of answer
A 1-10 1 20 Words
B 11 - 18 2 Half page
C 19 - 27 4 One page
D 28 - 30 6 Three pages

7) w9 wutek 28 ¥ 30 § IRk feekeu |
Question Nos. 28 to 30 have internal choices.
Qug — A

SECTION - A

1) ‘vau ush 9rfEsw fohar @ e i)

"Management is a group activity.'

1

explain. [1]
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3)

4)

S)

6)

7)

8)

“fransE stfera 27 A7

'Planning is continuous'. How? [1]

WA rfefaerer uea (37, &, . 3. A1E.) 3 SUR Hd e R ?

When was the over the counter exchange of India (O. T. C. E. 1.)
Commenced trading? [1]

“IEffar Saarer &1 SR 2 FRA?

Entrepreneurship is organisation of production. How? [1]

farverns uiisifies gunelt @ @ st 27

What do you mean by differential piece wage system? [1]

HUAMEL & =91 H VSR ATeAchR’ /T A9 T8 Hifsu)

Explain the meaning of employment interview in selection of
employees. [1]

= ufsran &% g (TRfTeR) @ =Run % am foRau)

Write the names of first (preliminary) two steps of control process.

[1]

‘Ao AfEe wTEl W UshIeHhdl @ g1 R ?

"Coordination integrates group efforts" How? [1]
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9) ‘e ®§ Wl AT 3Tt ?7 1 awHEeu)

'Planning involves huge costs'. Explain. [1]

10) 0 waer gt afquifea ‘v fawem” & fagea =t wae fism)

Explain the principle of 'Division of work' Propounded by Henri Fayol.
[1]

wQig - d

SECTION - B

11) faferer uaterm & WeR g e foredl @t fag=ent & 9w foRam)

Write any two names of legislations passed by the Government in
legal environment. [2]

12) ‘wehfd’ wa e’ & SMUR W UGS TS TS UGS W64 | 3R Farsu|

Mention the difference between formal organisation and informal
organisation on the basis of 'mature and leadership' [2]

13) safian 8 ‘SemdE sl & fou oE. St uE. fawewer s = grn uehia Rkl

Show with the help of a chart the '[.D.S. Analysis for entrepreneurial
opportunities' in entrepreneurship. [2]

14) wi¥teror qen foeh@ | &6 il g a1t @3 @t oe feilau)

Write any two benefits of training and development to an organisation.

[2]
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15) siiu=niier ON0T & “TOa= / Gk UATg 93 hi 9e gl UERid hitsTg|

Show with the help of a chart 'free flow network' of formal
communication. [2]

16) 319 Uk ST & ®9 ° ITHE fAoares vd awedar # foRE aig anem uem |
(=13t foreg)

As an entrepreneur how will you contribute towards entrepreneurial
performance and success. (Any two points) [2]

17) =araataer uIieror st 312k Tum Hifsu)

Explain the meaning of Business environment. [2]

18) faaur &% ‘foradim wieam’ =mt = g weivia Hifsm)

Show with the help of a chart 'two level channel' of distribution. [2]

s - 9
SECTION - C

19) Uit =T i UHId A 9T Shieh oh &9 | Uehe yaE T = wug fifkmw)

Explain cash flow position as factors affecting the choice of capital
Structure. [4]

20) SuHEs & 7, sifieer wmemsu)
i) H= @ AR
ii) === 1 AR
Explain the following Rights of consumers. [2 +2=4]
1) Right to be informed
11) Right to choose
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21) U™ % ‘WISATCHS 3299 <hl TUE Hifsm)

Explain the organisational objectives of management [4]

22) AT & 3299 foiRau)

Write the objectives of standardisation. [4]

23) fFa=or B R @ dimett st wuE i)

Explain any two limitations of controlling. [4]

24) TS Uil hl Akl sl IHIfd & 9T geeh Sdrsu)

Mention the factors which affect the requirement of fixed capital.[4]

25) 3ta 2 wita afvteror fafer o ‘afSeronelf wrisea’ =t wwzeu)

Explain the 'apprenticeship programme' of on the job training method

[4]
26) ¥t & frerraqut wE AT
Mention development functions of SEBI. [4]
27) FESE | CTEm T wiRul
Explain 'Rule' in planning. [4]
©us - q
SECTION - D

28) Tk Terereh o w9 W Rl sreeifes Sem # TeA o W Rl awEnsel (RE TR frg)
SraT

FNOTEh TE @ A1 9™ 27 ATk T H Uk u<iier a6 | for fora
Uil Rl g1 wfRu e
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As a manager explain the importance of organisation in a business
enterprise. [6]

OR

What do you mean by formal organisation? In your opinion what
advantages should a formal organisation have. [6]

29) 3r=s dar @& fohgl ©: U w1 FuH hifg|
HAAYAT
frdvm  omron % wee % feedl W Rl w wE SR
Explain any six Qualities of good leader. [6]
OR

Explain any four points of importance of motivation in directing.[6]

30) T 3=3 ois AW hl Al ©: feiwaett = wwegu)

AAAT

fommam & et R TwEms)

Explain any six characteristics of a good brand name. [6]
OR

Explain merits of advertising. [6]

BRR
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